Instructor: Dr. R.A.G. Seely

Simplifying polynomial expressions

I

Practice Assignment 6a

Algebra & Functions (Maths 201-016)

Expand the following expressions (if necessary) and collect like terms.
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17x + 18x

—14x + 16z

r— 11z

—12x — 13z

%x + ga:

—5Y+ %Y

%x +x

ry? — bxy + Try? + 152y
—x3y + 923y — 10y — 1923y
—%:Eyz + 177 + %fvyz
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—3x(5x)

3x(—Txy)
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r+y—(y—5r)(-2)
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—62(62 — 1)

20—y — 2z —y)(-3)

92(3 — 62) + 1322

3t[4 — (t — 3)] +t(t+5)

2t[(t +2) — 3t] — (t +5)(4t)
—z(z4+1) =2z — (1 - )]
iG+92)

22 (12 4 15) + 1627
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(x4 6)(x —8)

(2z + 3)?

—(z—1)(z+1)

(2 +1)(3z — 1)

32(5 — 25z)

(z+y)?

22— (z+1)(z—1)

2(3y — 4z)(z + 2y)

(5z — 1) (97 + §)

372 — 61 — (z + 2)(z + 3)
—3x(2x + y)(z — 4y)

3z — (5 — x)]?

5(x 4 3)(4x — 3) — ba(x + 3)

2 —(1—x)?

oz(x+1) —2(1 —z)] — (z — 1)(z + 3)
(22 —5)2 — (22— 5) —x(z + 1)
—(2zy + Ty) + (bz — 3)(—zy + 3y)

(22 +3)2+8[(3—2z) — (v +2)(z — 2)]
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(23 +8)(6 — 2x) — (z + 3)?

(2a — 3)[1 — (4 + b)a] — 3ab

(2z +1)3

—[2z — (T2 — 2)]2 + 2(9 — 62)
3x+4)(z—3)— 2z +1)(2x—1)

(3z —2)3

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
21.
22.
23.
24.
25.
26.
27.
28.
29.

8zy? + 10zy
—1123y — 10y
177 — %zyz
82
—1522
—212%y
—3622y>

81zyd

3z 46

12y — 36z
—6x + 3y
—14z + 4y
T +5

Tr — 16
-9z 4 3y
—362% + 62
8z — 4y
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27z — 4122 60.

26t — 2t
—8t% — 16t
—2? — 5 + 2
2+ %m

2422 + 10z
7+ 4z

x? — 22 — 48
4% + 122+ 9
1 — 22

622+ —1

3z — 1522

2+ 2xy + y2

1

12y% — 102y — 822

4527 4+ 3z — %

222 — 11z — 6

—623 4 2122y + 1222

1622 — 40z + 25

1522 + 30x — 45

142z — a2

22 4+4x —1

322 — 23z + 30

16zy — 16y — 5z2y

—4x% 4+ 42 + 65

—22% + 623 — 22 — 222 + 39
14a — 8a? — 2a%b — 3

83 4+ 1222 + 6z + 1

—252% + 162 + 2

—x2+%m—5

2723 — 5422 + 362 — 8



